

$$1. f(x) = x^2 \sin(x)$$

$$(x) \cos(x) = -x \sin(x)$$

$$\frac{d}{dx} [f(x)g(x)] = f(x) \frac{d}{dx} [g(x)] + g(x) \frac{d}{dx} [f(x)]$$

$$f(x) = x^2 \quad + \quad g(x) = \sin(x)$$

$$x^2 \frac{d}{dx} [\sin(x)] + \sin(x) \frac{d}{dx} [x^2]$$

$$x^2 \cos(x) + \sin(x) \frac{d}{dx} [x^2]$$

$$x^2 \cos(x) + \sin(x) (2x)$$

$$x^2 \cos(x) + 2x \sin(x)$$

$$2. f(x) = \frac{2x+1}{x^2-1}$$

$$x = -1, x = 1$$

$$x = -1$$

$$x = 1$$

$$3_{\circ} f(x) = (x^2 + 1) \cos(x)$$

$$(x^2 + 1) \cos(x)$$

$$\frac{d}{dx} [f(x) g(x)] = f(x) \frac{d}{dx} [g(x)] + g(x) \frac{d}{dx} [f(x)]$$

$$f(x) = x^2 + 1 \quad \vee \quad g(x) = \cos(x)$$

$$(x^2 + 1) \frac{d}{dx} [\cos(x)] + \cos(x) \frac{d}{dx} [x^2 + 1]$$

$$(x^2 + 1) (-\sin(x)) + \cos(x) \frac{d}{dx} [x^2 + 1]$$

$$(x^2 + 1) (-\sin(x)) + \cos(x) \left( \frac{d}{dx} [x^2] + \frac{d}{dx} [1] \right)$$

$$(x^2 + 1) (-\sin(x)) + \cos(x) (2x + 0)$$

$$(x^2 + 1) (-\sin(x)) + \cos(x) (2x)$$

$$\frac{1 + \cos(x)}{1 - \sin(x)}$$

$$4_{\circ} f(x) = e^{2x} \ln(x)$$

$$\frac{d}{dx} [f(x) g(x)] = f(x) \frac{d}{dx} [g(x)] + g(x) \frac{d}{dx} [f(x)]$$

$$f(x) = e^{2x} \quad \vee \quad g(x) = \ln(x)$$

$$e^{2x} \frac{d}{dx} [\ln(x)] + \ln(x) \frac{d}{dx} [e^{2x}]$$

$$e^{2x} \frac{1}{x} + \ln(x) \frac{d}{dx} [e^{2x}]$$

$$\frac{e^{2x}}{x} + \ln(x) \left( \frac{d}{du} [e^u] \frac{d}{dx} [2x] \right)$$

$$\frac{e^{2x}}{x} + \ln(x) \left( e^{2x} \frac{d}{dx} [2x] \right)$$

$$50 - f(x) = \frac{x^2 - 1}{x + 1}$$

$$x = -1$$

$$x = 1$$

$$y = x - 1$$

$$6. f(x) = (2x^3 + 5)^4 (3x - 1)^2$$

$$\frac{d}{dx} \left[ (2x^3 + 5)^4 ((3x - 1)(3x - 1)) \right]$$

$$\frac{d}{dx} \left[ (2x^3 + 5)^4 (3x(3x - 1) - 1(3x - 1)) \right]$$

$$\frac{d}{dx} \left[ (2x^3 + 5)^4 (3x(3x) + 3x \cdot -1 - 1(3x - 1)) \right]$$

$$\frac{d}{dx} \left[ (2x^3 + 5)^4 (3x(3x) + 3x \cdot -1 - 1(3x) - 1 \cdot -1) \right]$$

$$\frac{d}{dx} \left[ (2x^3 + 5)^4 (9x^2 - 6x + 1) \right]$$

$$\frac{d}{dx} [f(x)g(x)] = f(x) \frac{d}{dx} [g(x)] + g(x) \frac{d}{dx} [f(x)]$$

$$f(x) = (2x^3 + 5)^4 - g(x) = 9x^2 - 6x + 1$$

$$(2x^3 + 5)^4 \frac{d}{dx} [9x^2 - 6x + 1] + (9x^2 - 6x + 1) \frac{d}{dx} [(2x^3 + 5)^4]$$

$$(2x^3 + 5)^4 (18x - 6) + (9x^2 - 6x + 1) \frac{d}{dx} [(2x^3 + 5)^4]$$

$$\frac{d}{dx} [f(g(x))] = f'(g(x))g'(x) - f(x) = x^4 y g(x)$$

$$= 2x^3 + 5$$

$$(2x^3 + 5)^4 (18x - 6) + (9x^2 - 6x + 1) (4(2x^3 + 5)^3 \frac{d}{dx} [2x^3 + 5])$$

$$(2x^3 + 5)^4 (18x - 6) + 24(9x^2 - 6x + 1)(2x^3 + 5)^3 x^2$$

$$7. f(x) = (\sin x)^3 (\cos x)^2$$

$$(1-x)^n (2+3x)^m = (x)$$

$$\frac{d}{dx} [f(x)g(x)] = f(x) \frac{d}{dx} [g(x)] + g(x) \frac{d}{dx} [f(x)]$$

$$f(x) = \sin^3(x) \quad \text{y} \quad g(x) = \cos^2(x)$$

$$\sin^3(x) \frac{d}{dx} [\cos^2(x)] + \cos^2(x) \frac{d}{dx} [\sin^3(x)]$$

$$\frac{d}{dx} [f(g(x))] = f'(g(x)) g'(x)$$

$$f(x) = x^2 \quad \text{y} \quad g(x) = \cos(x)$$

$$\sin^3(x) \left( 2 \cos(x) \frac{d}{dx} [\cos(x)] \right) + \cos^2(x) \frac{d}{dx} [\sin^3(x)]$$

$$2 \cdot \sin^3(x) \cos(x) \frac{d}{dx} [\cos(x)] + \cos^2(x) \frac{d}{dx} [\sin^3(x)]$$

$$2 \sin^3(x) \cos(x) (-\sin(x)) + \cos^2(x) \frac{d}{dx} [\sin^3(x)]$$

$$-2 \sin^3(x) \cos(x) \sin(x) + \cos^2(x) \frac{d}{dx} [\sin^3(x)]$$

$$-2 (\sin^1(x) \sin^3(x)) \cos(x) + \cos^2(x) \frac{d}{dx} [\sin^3(x)]$$

$$-2 \sin^4(x) \cos(x) + \cos^2(x) \frac{d}{dx} [\sin^3(x)]$$

$$8. f(x) = \frac{e^{(2x^2+5x)}}{2x+1}$$

$$\frac{d}{dx} \left[ \frac{f(x)}{g(x)} \right] = \frac{g(x) \frac{d}{dx} [f(x)] - f(x) \frac{d}{dx} [g(x)]}{g(x)^2}$$

$$f(x) = e^{2x^2+5x} \quad \text{y} \quad g(x) = 2x+1$$

$$\frac{2x+1 \frac{d}{dx} [e^{2x^2+5x}] - e^{2x^2+5x} \frac{d}{dx} [2x+1]}{(2x+1)^2}$$

$$\frac{d}{dx} [f(g(x))] - f'(g(x)) g'(x)$$

$$f(x) = e^x \quad \text{y} \quad g(x) = 2x^2+5x$$

$$\frac{(2x+1) \left( e^{2x^2+5x} \frac{d}{dx} [2x^2+5x] \right) - e^{2x^2+5x} \frac{d}{dx} [2x+1]}{(2x^2+1)^2}$$

$$\frac{(2x+1) e^{2x^2+5x} (4x+5) - 2e^{2x^2+5x}}{(2x+1)^2}$$

$$\frac{e^{2x^2+5x} (4x+1)(2x+3)}{(2x+1)^2}$$

$$y = \ln \frac{(2x+1)^2}{x^2+1}$$

$$\frac{d}{dx} [f(g(x))] = f'(g(x)) \cdot g'(x)$$

$$f(x) = \ln(x) \quad \text{y} \quad g(x) = \frac{(2x+1)^2}{x^2+1}$$

$$\frac{1}{(2x+1)^2} \cdot \frac{d}{dx} \left[ \frac{(2x+1)^2}{x^2+1} \right]$$

$$\frac{1}{(2x+1)^2} \cdot \frac{d}{dx} \left[ \frac{(2x+1)^2}{x^2+1} \right]$$

$$\frac{x^2+1}{(2x+1)^2} \cdot \frac{d}{dx} \left[ \frac{(2x+1)^2}{x^2+1} \right]$$

$$\frac{d}{dx} \left[ \frac{f(x)}{g(x)} \right] = \frac{g(x) \frac{d}{dx} [f(x)] - f(x) \frac{d}{dx} [g(x)]}{g(x)^2}$$

$$f(x) = (2x+1)^2 \quad \text{y} \quad g(x) = x^2+1$$

$$\frac{(x^2+1) \frac{d}{dx} [(2x+1)^2] - (2x+1)^2 \frac{d}{dx} [x^2+1]}{(2x+1)^2}$$

$$10. f(x) = (1+x^2)^3 \cos(x^2+2)$$

$$\frac{d}{dx} [f(x)g(x)] = f(x) \frac{d}{dx} [g(x)] + g(x) \frac{d}{dx} [f(x)]$$

$$f(x) = (1+x^2)^3 \quad + \quad g(x) = \cos(x^2+2)$$

$$(1+x^2)^3 \frac{d}{dx} [\cos(x^2+2)] + \cos(x^2+2) \frac{d}{dx} [(1+x^2)^3]$$

$$\frac{d}{dx} [f(g(x))] = f'(g(x)) g'(x)$$

$$f(x) = \cos(x) \quad + \quad g(x) = x^2 + 2$$

$$(1+x^2)^3 \left( -\sin(x^2+2) \frac{d}{dx} [x^2+2] \right) + \cos(x^2+2) \frac{d}{dx} [(1+x^2)^3]$$

$$(1+x^2)^3 \left( -2 \sin(x^2+2) x \right) + \cos(x^2+2) \frac{d}{dx} [(1+x^2)^3]$$

$$(1+x^2)^3 \left( -2 \sin(x^2+2) x \right) + \cos(x^2+2) \left( 3(1+x^2)^2 \frac{d}{dx} [1+x^2] \right)$$

$$= -2x(1+x^2)^3 \sin(x^2+2) + 6x(1+x^2)^2 \cos(x^2+2)$$



$$1.10. f(x) = \ln(2x^3 - 4x + 5)$$

$$\frac{d}{dx} [f(g(x))] = f'(g(x)) \cdot g'(x)$$

$$f(x) = \ln(x) \quad \text{y} \quad g(x) = 2x^3 - 4x + 5$$

$$\frac{d}{du} [\ln(u)] \cdot \frac{d}{dx} [2x^3 - 4x + 5]$$

$$\frac{1}{u} \cdot \frac{d}{dx} [2x^3 - 4x + 5]$$

$$\frac{1}{2x^3 - 4x + 5} \cdot \frac{d}{dx} [2x^3 - 4x + 5]$$

$$\frac{1}{2x^3 - 4x + 5} \cdot (6x^2 - 4)$$

$$\frac{2(3x^2 - 2)}{2x^3 - 4x + 5}$$

$$120- f(x) = x \ln(x^2 + 1)$$

$$\frac{d}{dx} [f(x)g(x)] = f(x) \frac{d}{dx} [g(x)] + g(x) \frac{d}{dx} [f(x)]$$

$$f(x) = x \quad g(x) = \ln(x^2 + 1)$$

$$x \frac{d}{dx} [\ln(x^2 + 1)] + \ln(x^2 + 1) \frac{d}{dx} [x]$$

$$\frac{d}{dx} [f(x)g(x)] = f'(x)g(x) + g'(x)f(x)$$

$$f(x) = \ln(x) \quad g(x) = x^2 + 1$$

$$\frac{2x \cdot x}{x^2 + 1} + \ln(x^2 + 1) \frac{d}{dx} [x]$$

$$\frac{2(x)(x)}{x^2 + 1} + \ln(x^2 + 1) \frac{d}{dx} [x]$$

$$\frac{2(x)(x')}{x^2 + 1} + \ln(x^2 + 1) \frac{d}{dx} [x]$$

$$\frac{2x^2}{x^2 + 1} + \ln(x^2 + 1) \frac{d}{dx} [x]$$

$$\frac{2x^2}{x^2 + 1} + \ln(x^2 + 1)$$

$$\frac{2x^2}{x^2 + 1} + \frac{\ln(x^2 + 1)(x^2 + 1)}{x^2 + 1}$$

$$\frac{2x^2 + \ln(x^2 + 1)(x^2 + 1)}{x^2 + 1}$$

$$130- f(x) = \ln(2x + \ln(x))$$

$$\frac{d}{dx} [f(g(x))] = f'(g(x)) \cdot g'(x)$$

$$f(x) = \ln(x) \quad \text{y} \quad g(x) = 2x + \ln(x)$$

$$\frac{d}{du} [\ln(u)] \cdot \frac{d}{dx} [2x + \ln(x)]$$

$$\frac{1}{u} \cdot \frac{d}{dx} [2x + \ln(x)]$$

$$\frac{1}{2x + \ln(x)} \cdot \frac{d}{dx} [2x + \ln(x)]$$

$$\frac{1}{2x + \ln(x)} \left(2 + \frac{1}{x}\right)$$

$$140- f(x) = (\ln(x))^2$$

(12/15)  
(12-15)

$$\frac{d}{dx} [f(g(x))] = f'(g(x)) \cdot g'(x)$$

$$f(x) = x^2 \quad \text{y} \quad g(x) = \ln(x)$$

$$\frac{d}{du} [u^2] \cdot \frac{d}{dx} [\ln(x)]$$

$$2u \cdot \frac{d}{dx} [\ln(x)]$$

$$2 \ln(x) \cdot \frac{d}{dx} [\ln(x)]$$

$$2 \ln(x) \cdot \frac{1}{x}$$

$$\frac{2 \ln(x)}{x}$$

$$\frac{2 \ln(x)}{x}$$

$$\frac{\ln(x^2)}{x}$$

$$150. f(x) = \ln\left(\frac{2x+1}{3x-4}\right)$$

$$\frac{d}{dx} [f(g(x))] = f'(g(x)) \cdot g'(x)$$

$$f(x) = \ln(x) \quad y \quad g(x) = \frac{2x+1}{3x-4}$$

$$\frac{d}{du} [\ln(u)] \cdot \frac{d}{dx} \left[ \frac{2x+1}{3x-4} \right]$$

$$1 \cdot \frac{3x-4}{2x+1} \cdot \frac{d}{dx} \left[ \frac{2x+1}{3x-4} \right]$$

$$\frac{3x-4}{2x+1} \cdot \frac{d}{dx} \left[ \frac{2x+1}{3x-4} \right]$$

$$\frac{d}{dx} \left[ \frac{f(x)}{g(x)} \right] = \frac{g(x) \frac{d}{dx} [f(x)] - f(x) \frac{d}{dx} [g(x)]}{g(x)^2}$$

$$f(x) = 2x+1 \quad y \quad g(x) = 3x-4$$

$$\frac{3x-4}{2x+1} \cdot \frac{(3x-4) \frac{d}{dx} [2x+1] - (2x+1) \frac{d}{dx} [3x-4]}{(3x-4)^2}$$

$$\frac{(3x-4) (2(3x-4) - 3(2x+1))}{(2x+1) (3x-4)^2}$$

$$\frac{2(3x-4) - 3(2x+1)}{(2x+1) (3x-4)}$$